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Opening Setting: 

Protagonist: 

BEGINNING

MIDDLE

Why do they want their goal?

Antagonist: 

Obstacle #1 to overcome: 

OUTLINE

T I P

The protagonist should have a good reason 
to want their goal and the antagonist should 
have a good reason to stop the protagonist 
from getting it. 

Goal: 

T I P

The best obstacles are ones 
the protagonist has to 
creatively solve, not ones that 
are easy to solve or that the 
protagonist has a convenient 
solution too. 

T I P

Make each obstacle bigger 
than the last. 

Obstacle #2 to overcome: 

Describe the obstacle and how the 
protagonist overcomes it. 

Describe the obstacle and how the
protagonist overcomes it. 

Why does the antagonist not want the 
protagonist to accomplish/get their 
goal? 




